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Supplement

Rationalized MKXSC

Leng:h in Meters (m), Mass in Kilocorams (k~), Time in Seconds
, . 2
(sec), Charge in Conlombs, Force in New:ons (kg-m/sec™ ).

2
Enercoy in Joules (kg—mz/sec ; 3

Differential Equations:

Z.E = p/eo [p] =1 Coulomb/m3
s B — q
v x E = - 3B/3t
2 2
\V4 = + o) = =
T xB=HJI+ K e EML (5] = 1 Amp/m e, = e
D = e E,B=uUH c=3x 108 m/sec, 1Coulomb/sec =
o
1 Amp
Force:
F = qE [E] = Newton/Coulomb = Volt/m
1 Volt.Coulomb = 1J
-0 )
E= Q/4"€Or 4"30 = % x 10 Coulomb/Volt'm or Farad/m
F = Farad
>/ bwtfe = o ¥)
F = q(v x B) [(B] = weber/m ‘(

~ 4 9
1 Weber = Volt-sec (= 10 Guass = 17 camma)
v = Velocity in m/sec

[H] = Amp/m
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T™indamental Unitse

a
i

-19
1.69206 x 1n

-31

m= 9.1783 x 1n

M= 1.67239 x 11

27

o

Coulomb =

ke

kg

£ (35w T/ &

Conversion Factors (all are unity):

1= 1.60206 x 10 %2

7
= 10 era/Joule

105 dyne,/New-on

Qe Supplemnert

3
(1 Joule/m =

3
(1 Coulomb-Volt/m =

(E x B)

10 Joule/mj,

2 :
1 Weber /Henry m3)

-

A

am-x IO*J Kg-m/Cduldmb { = Henxry,/m)

T =dg/dt = | J.ds
(1] = 1 2amp = 1 coulomb/s

(7] =1 Amp/m2

[R] = 1 ohm = 1 Volt/Amp
(0] = 1/0hm - m
electric charge

mass of electron

li

mass of proton
2

e — -~

gy ~

Joule/electron-volt

370 volt/Statvolt

= /Ys/x/d"7e'/7e%
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9
3 ¥ 17 statconlomb/Coulomb
= 10 Abecoulomb/Coulomb

Nomenclature:

E 1is electric field intensi:y
D is displacem~nt

B is macneitic field intensity
H is manetic induction

Vactor fdentities

L. Ax (BxC) =B (A.C) - C (A.B)

2. 7. (VYxA) =1

3. v-(saA) =8 7.A+2A. (V8) S = scalar function
4, 7 (AxB) = B. (¥YxA) -A . (x B)

5 V x (7 8) =0

6. YV x (SA) = S(V xA) + (¥VS) xA

7. Vx(V x3) = V(v.}_\_)—vzgx_

a vV x (AXE)=A(V-E)-E(V'§)‘(’(Q‘V)A-(ﬁ'v)/-g

9. 7 {A.B) = (A. 7 )B+ (BV)A +Ax(VxZE +3x(vxh)
3

Lok, vV £ (n) = '31£1 vV u

11. ¥V .F (n) = Vu.dF/du

12, Y XFE (u) = ¥ x 38 0u



